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a. She made the secretary call her mother.
b. She have the secretary call her mother.
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3% Choose the best answer for the blank.
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1. A: Do you agree that public schools should be more like private ones?

B: No. It isn’t fair to two different kinds of school.

(A) compare (B) equalize

(C) provide (D) interest

2. Many stolen items can be by their serial numbers, which are unique
for each item.

(A) invested (B) poured

(C) identified (D) considered

3. All of the rooms on the first five floors of the hotel are , but there are
some rooms available on the higher floors.

(A) kept (B) occupied

(C) invaded (D) cleaned
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